Command Command strings Remark
PROGRAMMING 9a 02 01 00 Oa aa a3 ENTER PROGRAMMING
upP 9a 02 01 00 Oa dd d4 ID No. : 2/ Channel : 01
STOP 9a 020100 0accch ID No. : 2/ Channel : 01
DOWN 9a 02 01 00 Oa ee e7 ID No. : 2/ Channel : 01

DELETE PROGRAMMING

9a 02 01 00 Oa a6 af

ENTER PROGRAMMING

PROGRAMMING
upP
STOP
DOWN
DELETE PROGRAMMING

9a 03 01 00 Oa aa a2
9a 03 01 00 Oadd d5
9a 030100 0accc4
9a 03 01 00 Oa ee eb
9a 02 01 00 Oa a6 ae

ENTER PROGRAMMING
ID No. : 3/ Channel : 01
ID No. : 3/ Channel : 01
ID No. : 3/ Channel : 01
ENTER PROGRAMMING

For Example: 9a 03 01 00 Oa aa a2

ID code: 03

Head code: 9@

fixed head code, | ID code, write

Chanel code: 01 OO

channel code, write the

Command code: 02 aa vertify code: a2

vertify code, itis a
hexadecimal.

command code, you could
refer to above command
code, it is fixed. for example
up :0add

down: Oa ee

How to get Vertify code?
in your PC there is calculator, choose
hexadecimal version. As the photo shown

keep it the ID number channel number here for
here for example example
ID1: 01 channel 1: 01 00
ID2: 02 channel 2: 02 00
channel 16:00 80
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You could try to calculate the
above vertify code

vertify code= ID code Xor channel
code Xor command code

For example
03 Xor 01 Xor 00 Xor Oa Xor aa=a2
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